Is |CtuSD
-1 42 |rRc | 3 520
-2 45 |RC 3 182 0.39 0.39 21
2d-1 49 |RC | 3 993 |(091)] (047)
2d-2 49 [RC | 3 485
29-1 54 |RC | 3] 1608 | .| o,
29-2 55 |RC | 3 | 1,308
044 | 023 18
@ 5 |S 1 898
0.95)| (0.41)
&) 56 | S 1 240 |112| 033
-1 41 |rRC | 3 689
-2 2 |re [ 3| 231 ool oo 20
3 44 |RC | 3 770
-1 40 |RC | 2 617 |078| 051
-2 53 | S 2 341 |o070| 084
-3 53 |RC | 2 241 | 126| 127
-1 45 |RC | 3 oo | A 042 20
0.89)| (0.58)
-2 52 |RC | 3| 1395 |[o066| 066 20
-3 53 |RC | 3 851 [(0.79)] (0.71)
@ 53 |RC | 2 | 1,034 [130| 072
@3 53 |s 1 240 |172| o051
47 |rC | 2 864
47 |RC | 1 171 |089| o071
47 |RC | 2 70
-1 47 |RC | 2 432
076 | 060
-2 50 |RC | 2 432
-1 47 |RC | 2 905
-2 52 |RC | 2 422 |o71| o057
-3 52 |RC | 2 474
-1 48 |RC 2 871 0.42 0.32 21
-2 53 |RC | 2 323 [(088)| (0.72)
48 |'s 1 864 |071| 065
3 |rRc | 2 532 57
19 |s 1 163 57
-1 51 |rRc | 1 170
-1 51 |RC | 2 | 2477 |o089| 041
-1 51 |RC | 3 411
-2 53 |RC | 3 698 |049| 039 29
-3 54 |RC | 3 | 1,155 [(0.73)| (0.39)
024 | 013 18
52 | S 1 886
0.78)| (0.38)




57

Is [CtuSD
1,246 0.92 031
279 0.77 041
0.63 0.38 21
728
-1 55 |RC (0.71)] (0.38)
0.49 0.36 21
938
(0.81)] (0.44)
139 1.45 0.69
041 0.34 21
181 0.73 0.59
-2 55 |RC ©73)] (059
043 0.34 21
645
(0.79)| (0.44)
-3 57 |RC 701 57
55 S 240 0.78 0.58
56 |RC 942 1.01 051
57
57
23 4 1
57
CtusSD q




Is |ctusp
44 |RC | 3 | 1380
42 |RC | 3 | 1346
45 |RC 3 757 0.26 0.27
60 |rRC | 1| 170 22
61 | S 1 295 |(0.70)[ (0.58)
RC | 1 85
RC | 1 85
5 |s | 2| 110 |20 008 18
074)| (040)
50 |RC | 3 | 1,000
51 |RC | 3 | 1137 (gzgé) (8'.21) 22
RC | 1 45
RC | 2 | 39 57
RC | 2 | 443 57
RC | 3| 383 57
19 |s | 1 93 57
54 |RC | 3 | 2828 |072] 041
54 |RC | 3 | 1532
079 | 040
57 |RC | 3 | 626
20 |s | 1 7 57
54 |RC | 3 | 697 |092| 059
54 |RC | 1| 288 |313| 118
54 |RC | 1| 128 |375| 145
55 |RC | 2 | 1419 |090| 037
4 |s | 2| s43 57
57
57

57




